COMPACT TWIN-GUIDE CYLINDER SERIES
EZ 710|E A2 SWHE szx

INDEX

P
2t Holo| 3 g
XL

rowwwnrPONd

#1)-P.579] TOPEAO| 0| = HIEA| o] FAIAIR. |




@ MM ALQIX|E ofaklo] 7|2LHEEI0] JAFLICE

® TN HYREALICE

o
A
. ]
sm Eal PCGI = E HEZE AEZ23 (mm)
ZhSUrA] 254 $20, 25 |5, 10, 15, 20, 25, 30, 40, 50, 60, 80, 100
SRR mm 20, 25 32, 40, 50, 63, 80 $32,40 |5, 10, 15, 20, 25, 30, 40, 50, 60, 80, 100, 200
Hi 2t &Y M5X0.8 G1/8 $50, 63, 80| 10, 15, 20, 25, 30, 40, 50, 60, 80, 100, 200, 300
AL otz ez A=z3 0l2lo HEO thHAS 2olstol FAAIR,
Agorzusl 20 1 — P,
: FEE2A(0l) : Or2E AAMIME]
MPa | /X 0.15 0.1
55 [ MPa 15
AgREHe|  °C —5~+60 () FBC — PCJI — 2__0
Y =22 g
EET RETITIY ey A
M AR BAL RCI e
Thsasel 50~500 mm/sec FBC |
AE H2 2! +0~+
e e oo % PCJl Al2|z8t St fulMlRiLIc

% RO HAT A S1xIS] ANl Chl e BE71d=1 28 prore
Hmsto] FAAIR.
o
28
PCGI —12 —20 — 50
e e -
& PSEItaE
AEEF
SE / Hof2l Alet
12 [elme / gpolc vojz
wELRE
EElER 7Y B2 s eE
¢ 20 CP-PCGI-20 PS-PCJI-20
$25 CP-PCGI-25 PS-PCJI-25
b 32 CP-PCGI-32 PS-PCJI-32
$40 CP-PCGI-40 PS-PCJI-40
¢ 50 CP-PCGI-50 PS-PCJI-50
$63 CP-PCGI-63 PS-PCJI-63
¢80 CP-PCGI-80 PS-PCJI-80

* PCUl Al2|zol mEHeEnt SUELC,

PCGI-11
AER3 10

¢ 25 172
$32 280
¢ 40 378
¢ 50 614
¢ 63 871
¢80 1,564
M AQIX| Fuby

A ALIX| RCI

AlA E2tolH



LHRER=E

b

GRICTIO

-A

2t 29lo| HY W Fo 290 XA

1 2E 71 L20|EEF 1 o

2 Q= 7 L20|EEF 1 (]

3 Fe Ld20lsEE 1

4 oJAE-R L20|EEF 1 [ ]

5 oAE-H L20|EEF 1 [ ]

6 OAE 2C 7t A" 1

7 2c oy NBR 1 [ [ ]
8 £ g3s 1 ®

9 opauE opay 1 Y

10 oAE T§2 NBR 1 ® [
1 O-RING NBR 1 Y Y
12 =E 72 A8 1 [ ]

13 2c 3H NBR 2 [} [ )
14 O-RING NBR 2 ° [
15 EE ES: LIEIES 6 o

16 EGE] HI=2 1 [ ]

17 Zz20|1E L20|EEF 1 [}

18 ol 2= T AE! 2

19 710|E 2E A g3 2 [ ]

20 OAE 2CE EE 7t AE 1 (]

21 olE 2E 2E h2 AE 2 [ ]




XEE (mm)

ZE+ AE2T

ME WH ZA+AEES

D2 C
PL

(dB)
=
T |
[
o
2

Aal.‘_jl:ﬂ A| B C (D1 D2 E EE FB(WH| I | J | L [ME|PL|TG RT ZA | ZE
20 17 | 12 1 11 | M4x0.7 | 355 | M5X0.8 | 4 6 9 (21] 1 8 7| 22 M5x0.8 37 | 51
25 22 156 1 14 | M5x0.8 | 39.5 | M5x0.8 | 5 6 9 [21] 1 8 7| 26 M5x0.8 39 | 53
32 | 28|19.8| 14 |17 | M5x0.8 | 47 G1/8 5 (7|9 [21[15[10|75([325 Mex1.0 | 44 | 61
40 33 (233 14 | 17 | M5X0.8 | 54.5 G1/8 5 7 9 [21]15|10 | 75| 38 M6x 1.0 45 | 62
50 42 (29.7| 14 | 22 | M6X 1.0 | 65.5 G1/8 6 8 |12 |26|15|12 [75|465| M8x1.25| 45 | 65
63 |50 (35414522 | M6x1.0 [755| G1/8 | 6 | 8 |12 |26|1.5|12|7.5|565| M8x1.25 | 49 | 69
80 [65| 46 |155| 24 [M8x125[955| G1/8 | 8 |10 |12 |26| 2 |14 | 8 | 72 | M10Ox15 | 54 | 78

$ 20~ 25 ZF+AERS UF
MF
T T
t} i
A Y N [ D w

¢ 32~ ¢ 80
T
s D | E|FB|MF| R [ TF | UF | ZF
20 | 16 | 355 66 | 8 | — | 55 | 70 | 59
25 | 16 [395 6 | 8 | — |60 | 76 | 6t
32 | 30 | 47 | 7 |10 | 32 |64 | 80 | 71w «x
40 | 35 |545| 9 [ 10 [ 36 | 72 | 90 |72
50 | 40 |655| 9 | 12 | 45 | 90 | 110 | 77
63 | 45 |755| 9 | 12 | 50 | 100 | 120 | 81

N
o

80 | 45 | 955 63 | 126 [ 150 | 94




